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Accelerated Math 7 Practice test 2023

1. Which expression is equivalent to (15 - 7)7 =
A(15=4) - (7 +4) C. 15(4) - 7(4) C
B.(I5-T)+(15-4) D.d{li)}'ﬂ-(?)
2. Which of the following expressions can be written as 10(x f_v)'? <
A %oy C. 10x - () i3
B. 100 10 D. 105 10y
1‘
‘l On n school trip to the space museum, 20 students visited the astronaur exhihit, Tickers 3
for admission cost $18. Which expression can be used to mentally compute the total
cost of admission tickets? 30 ( %) P[
AL 3010+ §) C. 152 + §) ég \Sa(fﬂ
B.15-2410-8 D.3010-8)  3KP)T D
A ; : : N AP 4
4. Identify the like terms in the cxpression Tx -l-‘i:-b' + 3y 7. ;
7%+ Iy L’{y ) 3 Y
5.
5. The area of a triangle can be determined by ;hh. where # is the length of the base and
#r is the height. What is the coefficient in the expression 'Ebh" "L
vy A
6. Which of the following expm-.-wima correctly combines like terms? b.
Adx+ T+ Ir—qy=
o0 -004-0
C.lx+Ty+2x—4=4dx + 31
Didx+Ty+2x+dy=06x+3y
7. Mateo and IHaley both collect coins. Mateo has 8 more coins in her collection than i 8
Haley. Which expression represents the total number of coins in both collections? C+C
A 2e+8 B.c+ % C. 2c(5) D.38-2¢
Ldaey: e Maseo: (8 Ac+8  (A)
8. Bradley rems a fishing boat for the day. The total cost for gasoline is represented by 8.
the expression 3.25m + 15. What is the constant in the expression?
2 ConSTANT ¢ ]
N CadTR _ vmenic
LOEFFILIENT
9, What is the GCF of 100xy= and 25x:7 9
5:=35
rt M GeF or 0040 & 15x%
oo FETETE B g




13- Clej+ 1416 1341 P
15406+ /(13 ) ”f‘f"ﬁ

10. A triangle has side lengths of (4 — 10) units, (2¢ + 6) units, and 5x units. Which 10.
expression represents the penmeter of the triangle? K]\
A. (11x + 16) units dC) (11— 4) units ™ *f
B. (6x -4+ 5) units D. (14x + 8¢ + 5x) units %i Y
x4
11, The expression (2.2x + 8) represents the number of miles Trent jopged during a race, | 11. wﬂ‘“
and 5x represents the number of miles that Ling jogged during the same race, in x w I E
hours. Write an expression toshowhoww_ﬁmmﬁl_g Ling jogged than Trent. =
Ljnk~” ﬂf”‘f ‘2'3-:; -
ﬁly\ﬂ (&.Rx«*ﬁ) = 5x-2.4x-8 2.8x-8
12. Rewrite the following expression using the Distributive Property. 12

13. The width of a rectangle 15 4x units and its length is (6x — 2) units. What happens to

i = . v
the area of the rectangle il the length is doubled? 655"!%:!’& Lﬂ;.ﬁﬁf v A0
{ DoubLE TME AER
14, Wryg an expression in factored form that is equivalent 1o the expression E x+24, 14.
H'D‘D'ﬂw " - _.r- ) 5&' ’Jf é—-(x t 51)
@(MM ﬁ(’*i ] a_(gxd-f 5 ,r.*&;.'
An animal hospital provides aid to sick and injured sea turtles. The cost of visiting the 15.
hospital for ¥ number of visitors is shown in the table. @ %1 ‘;Z 2.50x* ! 5
T %
|0 i : - ol )&
TS G Ll il “'
el f Admission iwet | coms) | /5 #0 P | 7503
7.9% P \:: weekday 7.500+5 22,50+ 5
weekend 16x + 10 =
) T 16.
LoNTN APDr7oN 5%t 5
15. Write an expression in factored form that is equivalent to the sum of weekday and ’
weckend tickets, 7ie ek i5 -
ERACTIN oWl W
16. Write an expression to show how mtdljcﬂ‘glé’mr the cost is for & weekend ticket thana Dowdie
weekday ticket.
17. The perimeter of a square-shaped garden i1s {12y + 20) feet. Write an expression to 17.
represent the length of one side of the garden.
2x 122
/’"T}— 3x+5 Jp g
18. Which expression in factored form is equivalent o ér = 107 18.
Aoz (x+50) C. = (10x + 50) A
X 5(x - 10) /‘I{S(Iﬂr—.’;)
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(/3 /L 1)+ (14 b)
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- _/é(_-nwf)
/3. S T
A | :
yx |24 ol
- - Bx L QY(QD ‘#-{'Q
g ex =2 dux=-8x o X ob¥ il
S - of XK e
- . v, v, ~-Bx
Jot o
—xt+t2Y 7 T v+32)
¥ ﬂ" 7 %
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